Percent in Fractions Missing Denominators

Name: Score:

Convert the percents and fill in the missing denominators.

0% = 40 25% = 2

3750% = 32 200, = Al hso, 20
259 = 16 40% = 16 20— 14
0% = 125% - 20 s0% = o4
s0% = Y 5005 = LUl v~ 10
625% = Y 0% = 120 0%~ 25
125% — 39 23y, = 46 1250 = 40
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Answers

Convert the percents and fill in the missing denominators.

0% - 2%00 25% = 2%0

37.5% = 1% 2% = % 2% = %
25% = é—g 40% = }Tg 0% = %
0% - é_g 12.5% = 1%% 40% = 1%%
40% = 15705 50% = é%é 10— 1%00
6.25% = 43;3—(2) 30% = 4%8 0% = 12755
12.5% = 2327% 23% = 2%60 12.5% = 34700
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